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Пособие по выполнению контрольных работ № 4, 5, данные в этой работе, предназначены для студентов II курса заочного обучения специальности 160903.

Каждое контрольное задание дается в пяти вариантах. Студенты должны выполнить один из пяти вариантов в соответствии с последней цифрой его шифра.

	Последняя цифра шифра студента
	Номер варианта задания

	1 и 2

3 и 4

5 и 6

7 и 8

9 и 0
	1

2

3

4

5


Прежде чем приступить к выполнению контрольного задания, нужно проработать соответствующе тексты из учебного пособия и грамматический материал, указанный в методическом пособии, составленном кафедрой иностранных языков МГТУ ГА.

Все задания должны быть выполнены в той последовательности, в которой они даны в настоящих указаниях. Необходимо внимательно ознакомиться с заданием и точно следовать его требованиям.

Контрольное задание должно быть написано четко и аккуратно. При выполнении работы необходимо оставлять поля для замечаний рецензента. Английский текст следует писать на левой странице развернутой тетради, а его перевод на русский язык - на правой странице тетради. Таким образом должны быть выполнены все упражнения.

Если контрольная работа выполнена не в соответствии с указанными требованиями или не полностью, или выполнен не свой вариант, она возвращается студенту без проверки.

Получив проверенную рецензентом контрольную работу, студент обязан проанализировать замечания рецензента и написать правильный вариант предложения, где были допущены ошибки.

Защита контрольных работ проводится по зачтенным работам с исправленными ошибками.

Контрольная работа №4 (1)

I.
Прочитайте, а затем письменно переведите 1, 2, 3 абзацы текста. Английский текст перепишите на левой странице тетради, русский перевод – на правой:

Electromotive Force.
1.
There must be some driving force to cause the electrons to move through the metal conductor. This driving force tending to produce the motion of electrons through a circuit is called an electromotive force or e. m. f., for short. It is the e. m. f. that moves electrical charges from one point in the circuit to another.

2.
The greater the electromotive force, the greater the pressure on the electrons moving through the conductor. However, in spite of our calling it a “force” it is not a force at all as that term is understood in mechanics.

3.
A battery or other source of an electromotive force is a device that produces a potential difference necessary for causing electric current to flow along a conductor. We know the current to flow through a conductor in case there is a difference of potential between the ends of the conductor, for it is then that an e. m. f. is present.

4.
One should distinguish between an electromotive force and a potential difference. A generator or a battery is a source of e. m. f., whereas the voltage across the resistance in which a current is flowing is a potential difference or voltage drop. In general, the e. m. f. of a battery or a generator cannot be measured exactly at its terminals, since these devices have an internal voltage drop when the circuits completed.

II.
Найдите в тексте ответы на следующие вопросы:

1.  When does current flow through a conductor?

2.  What is a source of e. m. f?

III.
Найдите в тексте производные от следующих слов, выпишите их, переведите на русский язык, укажите часть речи:

1. electric
2. to press

3. to conduct

4. to differ 

5. to generate

6. volt 

7. to resist 

8. exact

IV.
Перепишите и переведите на русский язык следующее предложения. Подчеркните инфинитив и определите его функцию: 

1. It is wrong to think that conducting materials are the only materials to be used for the transmission of power.

2. We have to use an insulator to prevent electrical loss.

3. Voltmeter is the instrument to measure the electric pressure.

4. Tungsten is usually the metal to be chosen for filaments of electric lamps.

V.
Перепишите и переведите следующие предложения. Подчеркните причастия I и II и определите их функции:

1. The magnetic field strength is measured by the number of lines of force running through a square centimeter.

2. The unit of capacity is the farad named after Faraday.

3. In the preceding articles we have mainly discussed electricity at rest.

4. Condensers consisting of parallel plates insulated from each other with air are often used by radioman.

VI.
Перепишите и переведите следующие предложения на русский язык, подчеркните герундий:

1. The ammeter is the instrument for measuring the current flowing in an electric circuit.

2. A metallic conductor becomes heated and continues developing heat as long as current is sent through it.

3. In transmitting power we, generally use as good a conductor as possible.

4. Changing the resistance of a circuit is one of the methods of controlling the flow of current in the circuit.

VII.
Перепишите и переведите следующие предложения с конструкцией it is (was) … that (who, which):

1. 
It was the diameter of the wire that we changed to obtain these results.

2. 
It is on the above basis that all our power-plants are constructed at present.

3. 
It is an increase in temperature that increases the speed of the molecules.

Контрольная работа №4 (2)

I.
Прочитайте, а затем письменно переведите 1, 2 абзацы текста. Английский текст перепишите на левой странице тетради, русский – на правой:

Capacity in an Electric Current.

1.
Capacity is one of the important properties greatly affecting аn electric current. The capacity of а condenser is the ratio of its charge to the potential difference between its plates. The capacity of a condenser shows us the charge required to charge the condenser to a voltage of one volt. The unit of capacity is the farad named after Faraday. The farad is known to equal the capacity of such a condenser which gives a potential difference of one volt when charged with one coulomb. As the farad is too large a unit for practical work, the microfarad is a millionth of a farad, is the unit to be mostly used for measuring capacity.

2.
Condensers store large electrical energy in a small space. We find the condenser to be, on the whole, two conductors separated by a dielectric medium or an insulating material medium. That insulating medium is usually made of glass, paraffin, paper, mica, air or oil.

3.
The amount of charge that a condenser stores depends on its size. Let us suppose that we have two isolated metal spheres, one of them is 6 m in diameter, and the other 12 m in diameter.If we put one microcoulomb of electric charge on the smaller sphere, that quantity of electricity will charge the smaller sphere to a voltage of 3 000 V. One microcoulomb would charge the larger sphere to only 1.500 V. 0ne can say that the first smaller sphere has half the capacity of the larger sphere. In other words the capacity of the larger sphere is twice that of the smaller one.

II.
Найдите в тексте ответы на следующие вопросы:

1.  What is insulating medium made of?

2.  What does the amount of charge depend on?

III.
Найдите в тексте производные от следующих слов, выпишите их, переведите на русский язык, укажите часть речи:

1. condense
2. to differ

3. volt

4. most 

5. to measure 

6. electric 

7. to insulate 

8. usual

9. to press

IV.
Перепишите и переведите на русский язык следующие предложения. Подчеркните инфинитив и определите его функцию: 

1. Another important factor to be taken into consideration is that current strength is the same at all points of a series circuit.

2. To break the circuit we cut the wire and insert a push button.

3. Switches of various designs are used to open or close circuits.

4. The induced electromotive force in a step up transformer generates the high voltage to be delivered to transmission lines.

V.
Перепишите и переведите следующие предложения. Подчеркните причастия 1 и 2 и определите их функции:

1. The heating effect is detected owing to an increase in the temperature of the circuit.

2. The current flowing through the filament of an incandescent lamp heats that filament to a high temperature.

3. Nearly all the electrical energy transferred to the incandescent lamp is transformed into heat.

4. The light produced is a result of the heating effect.

VI.
Перепишите и переведите следующие предложения на русский язык, подчеркните герундий:

1. This stream of moving electrons is one form of electric current.

2. Current starts flowing at the very moment when we close the сircuit.

3. If broken anywhere, the electric circuit will immediately stop carrying a current.

4. There are many thousand ways of using electric circuits.

VII.
Перепишите и переведите следующие предложения с конструкцией it is (was) … that (who, which):

1. It is the motion of the electric charge that produces the magnetic forces.

2. It is the total number of revolutions of the armature that is the product of the speed multiplied by the time.

3. It is the ampere and the ohm that are required in order to define the volt.

Контрольная работа №4 (3)

I.
Прочитайте, а затем письменно переведите 1, 2, 3 абзацы текста. Английский текст перепишите на левой странице тетради, русский – на правой:

Resistance

l.
In everyday conversation the word “resistance” is, generally, used to mean anything that tends to oppose motion.

2.
If a tram is running at a uniform speed along straight rails friction tends to reduce the speed of the tram, opposing its motion. Likewise, resistance tends to reduce the flow of electric current.

The power expended in maintaining the current through resistance is transformed into heat. That is why, heat develops in a metallic conductor, whenever current flows. The amount of heat developed when the current is flowing through the conductor is the measure of the ohmic resistance of the conductor.

3.
When an electric current flows through a resistance, there is a loss of energy as well as a loss of voltage or electric pressure and both these losses are directly proportional to the amount of resistance.

4.
The larger the diameter of the wire, the smaller the resistance is and, hence, the more current will flow through it. This relationship between current, strength and the cross-sectional area of a conductor was first established by Petroff, our first Russian electrician.

5.
As a rule, if the length of a conductor is doubled, the resistance is doubled and if its cross-sectional area is doubled, its resistance is halved.

II.
Найдите в тексте ответы на следующие вопросы:

1. What happens with the resistance if the diameter of the wire becomes larger?

2. Who established the relationship between current, strength and the cross-sectional area of a conductor?

III.
Найдите в тексте производные от следующих слов, выпишите их, переведите на русский язык, укажите часть речи:

1. resist

2. general

3. oppose 

4. conduct

5. volt

6. proportion

7. press

8. direct

IV.
Перепишите и переведите на русский язык следующие предложения. Подчеркните инфинитив и определите его функцию: 

1. To charge an object by induction, you have to hold a charged body at some distance near the object to be charged. 

2. We use these lines of force in order to picture the electric field more clearly.

3. То analyze this effect is to give due considerations to all the elements.

4. To find an instrument better suited for our testing was the next problem to be faced.

V.
Перепишите и переведите следующие предложения. Подчеркните причастия 1 и 2 и определите их функции:

1. The measurement of electrical energy is usually expressed in watt hours.

2. Using ohm’s Low and the low of the force of interaction between the magnet and the current, we can make very simple instruments.

3. The deflection is measured by means of a pointer attached to the armature.

4. In this chapter we shall discuss the important effects accompanying the motion of electric charge.

VI.
Перепишите и переведите следующие предложения на русский язык, подчеркните герундий:

1. Comparing the performance of these instruments is the only means of solving the problem under discussion.

2. Any of the above-mentioned effects may be used for detecting and measuring current.

3. In this work the scientist described in detail the methods of constructing and using a battery.

4. The power expended in maintaining the current through resistance is transformed into heat.

VII.
Перепишите и переведите следующие предложения с конструкцией it is (was) … that (who, which):

1. It is to this invention that we owe the development of  modern electrical science and industry.

2. It is this electron stream towards the positive electrode that represents the electric current.

3. It was Benjamin Franklin who was the first to find, the defense against the destructive action of lightning.

Контрольная работа №4 (4)

I.
Прочитайте, а затем письменно переведите 1, 2 абзацы текста. Английский текст перепишите на левой странице тетради, русский – на правой:

Conductors and Insulators

1.
As is well known, to conduct an electric current is the same as to transmit electrons. All substances have some ability to transmit electrons but they differ greatly in the ease with which electrons pass through them. For instance, a copper wire conducts electricity readily, glass seems to conduct so little current that it is hardly measurable. Substances through which currents easily pass are called conductors. Those substances that strongly resist the flow of current are termed insulators. An insulator is also called a dielectric. It has very few free charges that are able to move under the influence of electric field.

2.
There is, however, no sharp distinction between conductors and insulators. Under ordinary conditions there is no perfect conductor and no perfect non-conductor. There is a continuous gradation from good conductors to good dielectrics.

3.
For instance, paper though a poor conductor is by no means a perfect insulator. Indeed, all substances conduct a little electricity - even such, materials as porcelain, rubber, paper, and glass, which are considered good insulators. However, the insulator has so few electrons that can move about freely that, in practice, they allow only a negligible current to flow through them.

4.
Almost all metals are good conductors of electricity but silver is the best conductor of all.

II.
Найдите в тексте ответы на следующие вопросы:

1. What substances conduct a little electricity? 

2. What substance is the best conductor of all?

III.
Найдите в тексте производные от следующих слов, выпишите их, переведите на русский язык, укажите часть речи:

1. measure
2. easy
3. conduct
4. strong
5. insulate
6. district
7. electric
8. free
IV.
Перепишите и переведите на русский язык следующие предложения. Подчеркните инфинитив и определите его функцию: 

1. The following precautions should be observed to ensure valid results in our experiment.

2. The apparatus to be designed is to be used at the power station.

3. The ammeter is the instrument to measure the electric current. 

4. In order to have a steady current, we must have a completed circuit.

V.
Перепишите и переведите следующие предложения. Подчеркните причастия 1 и 2 и определите их функции:

1. When a wire carrying  a current is surrounded by a magnetic field, the force acting on the wire is proportional to the current.

2. A galvanometer is a sensitive instrument used to detect and measure small electrical currents.

3. The deflection is proportional to the current flowing through the armature coil.

4. The current flow is detected and measured by any of the
effects that it is producing.   

VI.
Перепишите и переведите следующие предложения на русский язык, подчеркните герундий:

1. A voltmeter is an instrument for measuring difference between any two points in a circuit.

2. The scientists went on studying the nature of that new phenomenon.

3. There are different means of producing an electric current.

4. Before discussing the future development in isotope utilization let us trace briefly the events leading to its discovery. 

VII.
Перепишите и переведите следующие предложения с конструкцией it is (was) … that (who, which):

1. It is the volt that designates the potential difference between two points.

2. It was the idea of atmospheric electricity that greatly interested both Lomonosov and Rihman.

3. It was in 1872 when Lodygin constructed a number of incandescent lamps.

Контрольная работа №4 (5)

I.
Прочитайте, а затем письменно переведите 1, 2, 3 абзацы текста. Английский текст перепишите на левой странице тетради, русский – на правой:

Short circuits and danger from overheating in circuits

1.
No electrical appliances and machines are designed for use at very high temperatures. Motors, generators and transformers all have coils of wire with current passing through them. Too much heat damages their insulation. In addition to it this heat is really lost energy.

2.
The less resistance there is in a circuit, the greater the amount of current carried through it. Thus, the lines that carry large amounts of current are designed with large cross section areas so that the heat losse is reduced to a minimum.

3.
Overloaded wires are subjected to overheat, and if the overload is too great, the rubber and cotton insulation burns up and then the circuit is readily shorted. In some cases short circuits only prevent proper operation of the equipment, at any rate, they are considered to be dangerous and damaging. A short circuit may be very damaging if a large amount of current is involved.

4.
Frequently, if small diameter wires are heavily overloaded, the wire catches fire. In order to prevent overloading of a circuit which might cause a fire, we use a protective device by means of which the circuit is broken, at once in case it is overloaded.

II.
Найдите в тексте ответы на следующие вопросы:

1. Why may a short circuit be very damaging? 

2. What do we use in order to prevent overloading of а circuit?

III.
Найдите в тексте производные от следующих слов, выпишите их, переведите на русский язык, укажите часть речи:

1. to insulate
2. to add
3. real
4. to prevent
5. to load
6. to connect
7. to heat
8. to operate
9. danger
IV.
Перепишите и переведите на русский язык следующие предложения. Подчеркните инфинитив и определите его функцию: 

1. To strengthen the magnetic field a closed core of iron is generally used.

2. The oscilograph to be used for testing purposes is similar to that used in our laboratory.

3. To analyze this effect we shall consider all the elements of the circuit. 

4. The instrument to be described here was developed several years ago.

V.
Перепишите и переведите следующие предложения. Подчеркните причастия 1 и 2 и определите их функции:

1. Condensers made of tinfoil plates insulated with paraffin paper are widely used in telephone.

2. It has become the usual thing to speak of the current as flowing from positive to negative.

3. The international volt is the electrical pressure creating a current of one international ampere.

4. A Watt is the power produced by a current of one ampere under a pressure of one volt.

VI.
Перепишите и переведите следующие предложения на русский язык, подчеркните герундий:

1. In addition to instruments for measuring current and voltage there are also devices for measuring electric power and energy.

2. The effect of heating of the current occurs in the electric circuit itself.

3. Petroff not only discovered the electric arc but also foretold the possibility of its application for lighting.

4. The rheostat is used to control current strength by changing its resistance.

VII.
Перепишите и переведите следующие предложения с конструкцией it is (was) … that (who, which):

1. It is rheostat that is used to control current strength by changing its resistance.

2. It is German physicist Ohm who deserved to rank among the most distinguished pioneers in the science of electricity.

3. It is rectifier that is the device for changing alternating current into direct current.

Контрольная работа №5 (1)

I. 
Прочитайте, а затем письменно переведите 1 и 2 абзацы текста. Английский текст перепишите на левой странице тетради, русский перевод – на правой:

LIGHT WITHOUT FIRE

1. 
Heat without fire, light without flame – that is why incandescent lamps seemed so wonderful when Lodigyn for the first time demonstrated his invention and lighted some Petersburg streets by means of his electric lamps. That was in 1873. Nowadays the incandescent lamp has become the most common source of electric light.

2.
When the conductor of an electric current is so hot that it radiates light rays, it is said to be incandescent. Conductors used for making lamp filaments, when heated, soon become so hot that they radiate a white light. In other words, the light is radiated by a metal or carbon filament, heated to incandescence by the electric current. The percentage of luminous radiation from a hot body rapidly increases with the increase in temperature of the radiating body. The filament must be placed in an air-tight place for it will burn out unless the oxygen is removed.

3. 
Incandescent lamps of older types had filaments of carbon prepared in various ways. To make a suitable lamp filament was an extremely difficult thing. Lodigyn, for instance, had to experiment several years before he was able to make the first incandescent lamp burn successfully. He was the first to use tungsten for filament. Some idea of the work at this problem may be gathered from the fact that Edison had tried 6,000 different materials before he hit upon the carbonized filament.

II. 
Найдите в тексте ответы на следующие вопросы:

1. What kind of filaments had incandescent lamps of older types?

2. Who was the first to use tungsten for filament?

III. 
Найдите в тексте производные от следующих слов. Укажите их части речи и переведите на русский язык:

1. to invent 

2. to conduct

3. electric 

4. to radiate 

5. incandescent 

6. rapid 

7. to suit 

8. extreme

9. success.

IV. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глаголы "should" (в значении "должен, следует"), "would" (в сослагательном наклонении глагола + частица "бы"):

1. Glass, when it is hot, conducts current much better than it would if it were cold.
2. Evidently, the frequency should be varied to meet different conditions.
3. If that liquid were heated it would greatly expand.
4. In order to design such an instrument, one should take into consideration the following factors.
V. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию ''Сложное подлежащее"
(см. модели):

1. Benjamin Franklin is considered to be the pioneer of the theory of atmospheric electricity.
2. A two-winding transformer is known to consist of two-coils.
3. 1f considered from this point of view the problem seems to be rather complicated.
4. Radium is said to be one and a half million times more radio active than uranium.
VI. Перепишите и переведите следующие предложения. Обратите внимание на конструкцию "Самостоятельный причастный оборот" (см. модели):

1. The resistance being very high, the current in the circuit was low.
2. The potential at the point being raised, electrons will flow towards that point.
3. Water flowing through a pipe, the pressure becomes less and less.
4. The above-mentioned phenomenon is caused by changes within the substance itself, these changes decreasing the resistance.
VII. Перепишите и переведите на русский язык следующие предложения. Обозначьте место пропущенных союзов
(см. модели):

1. The designers should first determine the required performance of the aircraft they are going to create. 
2. The device Lomonosov constructed was a helicopter.
Контрольная работа №5 (2)

I. Прочитайте, а затем письменно переведите 1, 2, 3 абзацы текста. Английский текст перепишите на левой странице тетради, русский перевод - на правой:
THE INCANDESCENT LAMP AND ITS DEVELOPMENT

1. An electric current can heat a substance white-hot, that is, bring it to incandescence.
2. In the incandescent lamp the resistor is in the form of fine wire, i.e. filament. To prevent the glowing wire from being destroyed is the main problem in constructing an incandescent lamp. If air reaches the wire, it will burn out for it will be oxidized by the oxygen. To remove oxygen from the filament, the latter is inclosed in a gas bulb from which air is pumped by a vacuum pump. The earlier lamps were of vacuum type. Sometimes, some substance was added to remove any remaining oxygen by chemical action. Such a substance is met in high-vacuum radio tubes.
3. The second essential problem was to obtain a suitable filament material. At first, due to the absence of a satisfactory metal, carbon seemed to be the very substance that could be used to meet the requirement. Carbon does not melt, besides it vaporizes at a temperature above 3,5OO°C.
4. In spite of these suitable qualities, however, the use of carbon brought, in its turn, new problems and difficulties. Thus although the carbon-filament lamps were a great improvement, they were not considered to be quite efficient and fully suitable since they expended a great deal of electricity to produce a given amount of light. Of course, by that time it had been realized that the best, filament would be made of a metal.
II. Найдите в тексте ответы на следующие вопросы:
1. What are the qualities of carbon?
2. Why were carbon-filament lamps not fully suitable?
III. Найдите в тексте производные от следующих слов. Укажите их части речи, и переведите на русский язык:
to develop, to insist, absence, to require, difficult, to suit, to improve, efficient, full.

IV. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глаголы should (в значении "должен", "следует"), would в сослагательном наклонении глагол + частица "бы":
1. As for the instrument mentioned above, it should be made as small as possible.
2. There would be no transfer of electricity between the two charged bodies provided they are joined by a glass rod.
3. It should be noted that this analysis differs considerably from a recently published explanation.
4. It would be of great use to employ the direct current motor in this, experiment.
V. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Сложное подлежащее" (см. модели):

1. Electrostatic effects are found to be usually characterized by very large potentials.
2. Metals are known to differ greatly in the ease with which electrons can be made to move from atom to atom.
3. The electric current passing through a conductor is considered to be the amount of electricity.
4. As minute charges move along a wire, that wire is said to carry an electric current.
VI. Перепишите и переведите следующие предложения. Обратите внимание на конструкцию "Самостоятельный причастный оборот" (см. модели):

1. The pressure range being beyond the limits of the existing diagram, data have been calculated by other means.
2. The flow of the current being reduced, the speed of the motor is correspondingly decreased.
3. Copper being a good conductor, we were recommended to use it when carrying on our research work.
4. These series of tests were followed by others, no satisfactory results being obtained.
VII. Перепишите и переведите на русский язык следующие предложения. Обозначьте место опущенных союзов (см. модели):
1. The grouping of the instruments "depends upon the function they perform.

2. The altimeter we use in the airplane is one of the important flight instruments.
Контрольная работа №5 (3)

I.
Прочитайте, а затем письменно переведите на русский язык абзацы 2, 3, 4. Английский текст перепишите на левой странице тетради, русский перевод - на правой:

PRIMARY AND SECONDARY CELLS.

1. 
The term "battery" applies strictly to an assembly of several cells either in series or in parallel but the term "cell" and "battery" are frequently misused, that is used interchangeably.

2. 
Each cell is provided with two plates of conducting material connected together in an electrolyte. When both the plates of differing conducting material are immersed in an electrolyte, there is a difference of potential between each of these plates and the electrolyte.

3. 
If the plates are connected together through an external circuit, a current will result and chemical reaction will occur in the cell. One kind of a primary cell consists of a zinc plate, or cathode and copper one, or anode.

4. 
Primary cells are electrochemical devices designed to develop an electrical potential and convert chemical energy into electrical energy. The parts of primary battery are consumed as it furnishes electrical energy, therefore, it is either destroyed, at last or some parts of it are renewed.

5. 
Secondary cells, or as they more commonly called storage cells, are used to convert chemical energy into electrical energy and to reconvert the latter again into chemical energy.

6. 
In case a storage cell is supplying electrical energy it is said to be "discharging" and the chemical reactions in the cell result in the delivery of electrical energy.

II. 
Найдите в тексте ответы на следующие вопросы:

1. 
What does the term "battery" apply to?

2.
What is the usage of secondary cells?

III.
Найдите в тексте производные от следующих слов. Укажите их части речи и переведите их на русский язык:

1. strict

2. assemble

3. frequent 

4. to change 

5. to differ 

6. prime 

7. new 

8. to store 

9. to convert.
IV.
 Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глаголы "should" (в значении "должен", "следует"), "would"(в сослагательном наклонении + частица "бы"):

1.
 According to this rule the wire used should have as large cross-section as possible.

2. 
But for the ohms, amperes, volts and watts the electric engineer would be in great difficulty. (but for - если бы не)

3. 
When the currents to be detected and measured are very small one should use a galvanometer.

4. 
One would expect an alternating current to be greatly affected by the presence of an inductance coil in the circuit.

V. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на сложное подлежащее (см. модели):

1. 
For a long time atom was thought to be indivisible.

2. 
This type of instrument is said to have many disadvantages.

3. 
Copper is known to be used as a conductor owing to its characteristics.

4. 
The electric current is considered to flow from the positive to the negative terminal.

VI.
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Самостоятельный причастный оборот" (см. модели):

1. 
The charge of the condenser increasing, the opposing potential difference in the condenser increases as well.

2. 
The potential at the point being raised, electrons will flow towards that point.

3. 
The conductor being a solution, say, salt in water, the molecules of salt are ionized.

4. 
When an electric current flows through a resistance, there is a loss of energy and electric pressure, both of these losses being directly proportional to the amount of resistance.

VII.
 Перепишите и переведите на русский язык следующие предложения. Обозначьте место пропущенных союзов в бессоюзном предложении (см. модели):

1. 
The computer compares the information it recieves with other information it stores.

2. 
The designer considers the weight the aircraft has during take-off and landing.

Контрольная работа №5 (4)

I. 
Прочитайте весь текст, а затем исьменно переведите 3, 4 абзацы текста. Английский текст перепишите на левой странице тетради, русский перевод - на правой:

DIRECT AND ALTERNATING CUTTENTS

1. 
The electric current is a flow of electrons that starts from a battery or generator, passes through resistances, meters, lamps, motors and so on, and finally returns to its starting point. Since such a current moves steadily in one direction, we call it a direct current.

2. 
A direct current is, of course, useful. It is a kind of current which is always associated with batteries. The electrical system in an airplane uses direct current and so do the telegraph, the telephone, to say nothing* of laboratories requiring direct current for their experimental work. Direct curent is also used to meet some of the industrial requirements.

3. 
The current flowing first in one direction and then in another is an alternating current. In spite of its usefulness a direct current system has one great disadvantage. There is no easy economical way by means of which one can increase and decrease its voltage. The alternating current does not know this disadvantage.

4. 
Using a transformer it is possible to transform power at low voltage into power at high voltage, power at high voltage being also transformed into power at low voltage. The alternating curent suplies the greatest part of the electric power for industry today. Speaking of motors supplied by the a. c., one should mention asynchronous motors. They are the most useful motors and the are less expensive than d. c. motors. The alternating current is the current that makes radio transmission possible. Only because electric current can change its direction radiograms as well as music can be sent through the air to distant places.

*to say nothing of - не говоря о...

II. 
Найдите в тексте ответы на следующие вопросы:

1. 
What is the electric current?

2. 
What type of the electric current does the electrical system in airplane use?

III. 
Найдите в тексте производные от следующих слов. Укажите их части речи и переведите их на русский язык:

1. to generate 

2. to resist 

3. to direct 

4. to use 

5. an experiment 

6. an industry 

7. advantage 

8. distance.
IV.
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глаголы "should" (в значении "должен", "следует"), "would"(в сослагательном наклонении + частица "бы"):

1. 
When a potential difference is maintained between the two ends of a conductor, the electric current would be limited only by the number of electrons available but for* the effect of electric resistance.

2. 
One should remember that all these divisions are arbitrary.

3. 
Speaking of motors supplied by the alternating current, one should mention asynchronous motors.

4. 
The current principle would not be changed by replacing the battery by some other source of electricity.

*but for - если бы не

V.
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Сложное подлежащее" (см. модели):

1. 
An ammeter is required to have a low resistance, since all the current must pass through it.

2. 
The resistance of most conductors proved to be greater in this case.

3. 
The electrons are found to meet more resistance when the conductor is hot than when it is cold.

4. 
When a substance conducts current less readily as its temperature increases, it is said to have a positive temperature coefficient of resistance.

VI.
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Самостоятельный причастный оборот" (см. модели):

1. 
The terms "closed circuit" and "completed circuit" being synonyms, we shall meet both of them when reading technical literature.

2. 
Power being transmitted over long distances with less loss at high voltage, it is more economical to increase the voltage.

3. 
Yablochkov's candle having given the first stimulus to the development of the alternating current system, a number of plants began to turn out generators producing the alternating current.

4. 
The same situation exists in an electrical circuit, the voltage difference between any two points in a circuit having got the name of potential difference.

VII. 
Перепишите и переведите на русский язык следующие бессоюзные предложения. Обозначьте места пропущенных союзов (см. модели):

1. 
The system we are discussing now is more difficult to control.

2. 
The cells we have discussed are wet cells containing liquid.

Контрольная работа №5 (5)

I. 
Прочитайте весь текст, а затем письменно переведите 1, 3, 4 абзацы текста. Английский текст перепишите на левой странице тетради, русский перевод - на правой:

METERS

1. 
When a wire carrying a current is surrounded by a magnetic field, the force acting on the wire is proportional to the current as well as to the strength of the field. One should take advantage of this fact to measure currents.

2. 
The ampermeter is the instrument that is generally used for measuring the current flowing in an electric circuit, the electricians having abbreviated the name "ampermeter" to ammeter.

3. 
The best ammeters for d. c. for measurements are the ammeters of the magneto-electric system. They are quite similar in design to d. c. motors, only more delicate. In an ammeter an armature coil rotates between the poles of a permanent magnet, but the coil restrained by a spring is able to turn but through a small angle. The greater the current* in the coil, the greater the force, and, therefore, the greater the angle of rotation of the armature. The deflection is measured by means of a pointer attached to the armature, the scale under the pointer reading directly in amperes.

4. 
When the currents to be detected and measured are very small, one should use a galvanometer. A galvanometer is a sensitive instrument used to detect and measure small electrical currents. Some very sensitive galvanometers are reported to detect a current as small as 10-11 of an ampere per 1 mm of the scale.

5. 
A voltmeter is an instrument to be used for measuring the potential difference between the two points in a circuit. Its action is similar to that of an ammeter, both of them having armatures that move when an electric current is sent through their coils.

6.
The deflection is proportional to the current flowing through the armature coil.

II. 
Найдите в тексте ответы на следующие вопросы:

1. 
When is the force acting on the wire proportional to the current and the strength of the field? 

2. What instrument is a galvanometer?

III. 
Найдите в тексте производные от следующих слов. Укажите их части речи и переведите их на русский язык.

1. a magnet 

2. strong 

3. general 

4. to measure 

5. to deflect 

6. to point 

7. different 

8. a proportion.
IV. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глаголы “should”(в значении «должен, следует»), “would”(в сослагательном наклонении глаголом + частица «бы»):

1. 
From the standpoint of the electric engineer a current of a few hundred amperes would be called a medium one.

2. 
If a piece of wire were replaced by another one of the same length but of double cross sectional area, it would offer half its former resistance.

3. 
According to this rule the wire used should have as large a cross-section as possible.

4. 
It should be noted that this relation is true for metallic conductors.

V. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Сложное подлежащее" (см. модели):

1. 
Though this requirement seems to be complicated, the meter is nothing more than a small electric meter.

2. 
The amount of the developed heat is found to be proportional to the square of the current flowing in the condctor.

3.
When the resistance decreases as the temperature is raised, the substance is assumed to have a negative coefficient of resistance.

4. 
Overloaded wires are found to overheat.

VI.
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Самостоятельный причастный оборот" (см. модели):

1. 
A conductor being able to carry an electric current, a magnetic field is set up around the conductor.

2. 
The resistance of a conductor varying with the temperature, it is possible to find out the resistance of that conductor at any given temperature.

3. 
The electromotive force is measurable, the volt being the unit in which it is measured.

4. 
The electromotive force is measured in units of work per unit of quantity of electricity, mechanical force being measured in units of work per unit of distance.

VII. 
Перепишите и переведите на русский язык следующие бессоюзные предложения. Обозначьте места пропущенных союзов (см. модели):

1.
 Most of the energy we use from below the ground is in the form of coal, oil and gas.

2. 
By means of controls you make the airplane behave in the way you wish.

ТЕКСТЫ ДЛЯ ВНЕАУДИТОРНОГО ЧТЕНИЯ
ГРАМАТИЧЕСКИЕ УПРАЖНЕНИЯ

ТЕКСТ №1

WINDSCREEN ICE PROTECTION SYSTEM

1. 
To provide good visibility for the pilot when flying in icing conditions, the electrically heated glass panels are used in the aircraft.

2. 
The windscreen heatig control system is put in operation by turning the appropriate circuit breaker on the radio operator's switch panel and two switches on the overhead panel. In this case the current is supplied to the inputs of two automatic windscreen heat control units, one of which is intended for heating the glass panels and the other - for the rest of the windscreen.

3. 
The automatic windscreen heat control units send pulses for actuating the relays which put the windscreen heating system into operation. If the windscreen heating was switched on on the ground, with the windscreen not being blown by free air flow, at a temperature of +35o C reached by outer surface of any glass panel, the automatic windscreen control unit deenergizes the appropriate relay and the heating is switched off.

4. 
After the outer surface of the glass panel is cooled up to a temperature lower than +35o C the control unit by means of the relay switches on the glass panel heating and cycle is repeated. When flying at a subzero ambient air temperature (at which ice formation is possible) with the windscreen heating on, the temperature of the windscreen surface usually does not reach +35o C and the periodic switching-off of heaters is not made. 

*by means of - посредством
II.
 Найдите в тексте ответы на следующие вопросы:

1. 
When does the control unit switch on the glass panel heating?

2. 
How is the windscreen heating control system put into operation?

III. 
Выпишите из текста английские соответствия следующим сочетаниям:

1. Система контроля нагрева лобового стекла.

2. Блок управления.

3. Температура окружающего воздуха.

4. Обледенение.
IV.
 Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глаголы “should”(в значении «должен, следует»), “would”(в сослагательном наклонении глаголом + частица «бы»):

1. 
One should always keep the diameter of the wire large enough to prevent overheating.

2. 
In order to reconstruct the circuit, a new fuse should be inserted.

3. 
Without the force of gravitation there would be no pressure in liquids.

4. 
Eight turns of the coil would cause the current to turn through the coil eight times.

V. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Сложное подлежащее" (см. модели):

1. 
The commutator is supposed to be similar to that of a direct current generator.

2. 
The melting point of tungsten is found to reach about 3.300o C.

3. 
At first, due to the absence of a satisfactory metal, carbon seemed to be the substance that could be used to meet the requirements.

4. 
The electric current is known to be the amount of electricity passing through the cross-section of the conductor in a unit of time.

VI.
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Самостоятельный причастный оборот" (см. модели):

1. 
The arc appeared between the upper ends of the parallel rods, the layer of Kaolin between them disappearing because of the high temperature developed.

2. 
Part of the energy being changed into heat, not all the chemical energy of the cell is transformed into electrical energy.

3. 
Electrons moving through a wire, electrical energy is generated in it.

4. 
Another turn being added into a coil, the current will pass once more in the same direction in it.

VII. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию "Сложное дополнение" (см. модели):

1. 
We know the transformer to be an apparatus designed for changing the alternating voltages and currents.

2. 
We know "avionics" to be the term of electronics applied to aircraft.

ТЕКСТ №2

I. 
Прочитайте весь текст, а затем письменно переведите 1, 2 и 4 абзацы текста.  Английский текст перепишите на левой стороне тетради, русский перевод – на правой.

THE TRANSFORMER

1.
We know the transformer to be an apparatus designed for changing the alternating voltages and currents by means of magnetic induction, the frequency remaining unchanged.

2. 
A two-winding transformer is know to consist of two coils so arranged that the magnetic lines of force of one coil pass through the other. Transformers being generally used only with alternating current, there is no need to make and break the circuit. The alternating current in one coil induces an electromotive force in the other one because of the alternations in the value of the current in the first coil.

3. 
In order to strengthen the magnetic field passing through the coils of a transformer, a closed core of iron is generally used. The iron core provides a good path for the magnetic lines of force, and nearly all the lines of force from one coil pass through the other, except the dissipation flux. An ideal transformer has no no-load losses. It means that all the lines of one coil pass through the other, and vice versa. However, the ordinary transformer is supposed to have no-load losses.

4. 
The coil in which the current exists in the input side of the transformer is called the primary while the one from which the induced current is obtained on the output side is called the secondary. In case, the secondary has more turns than the primary, the output voltage is larger than the input voltage, and the transformer is called then a step-up transformer. The secondary having fewer turns than the primary, the transformer is called a step-down transformer.

Vice versa – наоборот.

II.
 Найдите в тексте ответы на следующие вопросы:

1. 
What is a transformer?

2. 
What does a two-winding transformer consist of?

III. 
Выпишите из текста английские соответствия следующим сочетаниям:

1. Магнитные силовые линии,

2. Усилить магнитное поле,

3. Индуцировать электродвижущую силу,

4. Первичная и вторичная обмотка.
IV. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глагол “should” (в значении “должен”, ”следует”), “would ” (в согласовательном наклонении – глагол + “бы”):

1. 
One should remember that an e.m.f. is not induced in case a conductor is moved parallel to the lines of force.

2. 
Decreasing the current slowly would show us that the effect is the same.

3. 
As we should know, the electric cell is the device to convert chemical energy into electrical energy.

4. 
It would be difficult to attain accuracy without this electronic device.

V. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Сложное подлежащее” (см. модели):

1. 
Electrons are known to be minute negative charges of electricity.

2. 
When tiny charges move along the wire, that wire is said to carry an electric current.

3. 
The flow of electrons from zinc to the copper plate in the external circuit has been found to represent electrical energy.

4. 
The induced electromotive force is expected to be larger if a coil has a greater area of cross-section.

VI. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Самостоятельный причастный оборот” (см. модели):

1. 
By means of a transformer, alternating currents can be changed with small losses of energy, these losses seldom exceeding some 2.5 or 5 per cent.

2. 
The current changing, the magnetic field will change as well.

3. 
The magnet being moved into the coil, the wire of the coil must be cutting the lines of force.

4. 
The property of a coil which causes this effect is its self-inductance, the process being called “self-induction”.

VII. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Сложное дополнение” (см. модели):

1. 
The designer assumed the form of the heater to be spherical.

2. 
We know the electrons to flow out of the semiconductor easily under special conditions.

ТЕКСТ №3

I. 
Прочитайте весь текст, а затем письменно переведите 1, 2 и 4 абзацы текста.  Английский текст перепишите на левой стороне тетради, русский перевод – на правой.

LANDING LIGHTS

1. 
For the purpose of facilitating the landing of aircraft by night it is usual to provide on aircraft some source of illumination under the control of the pilot, which will aid him to see whether the ground is free of obstructions. The terminal aerodromes are normally equipped with adequate facilities on the ground for giving the necessary illumination. Lights on the aircraft, however, should be carried and maintained in good condition as they may be required for use at any case of a forced landing.

2. 
Lights provided on aircraft are of two distinct types: the incandescent electric lamp type, and the pyrotechnic, or flare type.

3. 
The incandescent electric lamp type has the advantage of being under the control of the pilot at all times, and to be free of dazzling effects. On the other hand*, their field of illumination is restricted, they are having and require a large supply of current. To avoid loss of illumination at a critical moment it is essential to include an accumulator where output would diminish with loss of speed.

4. 
The pyrotechnic, or flare light has the advantage of greatly increased illumination, low weight, simple installation and, negligible current requirements, together with unrestricted field of illumination. Their disadvantage lies in the fact that**, once ignited, they must be allowed to burn themselves out. They are also liable to dazzle the pilot and thus increase the danger of landing by night. 

*on the other hand - с другой стороны
**lies in the fact that – состоит в том, что.

II. 
Найдите в тексте ответы на следующие вопросы:

1. 
Why is it usual to provide on the aircraft some source of illumination?

2. 
What facilities are the terminal aerodromes normally equipped with?

III. 
Выпишите из текста английские соответствия следующим сочетаниям:

1. Источник освещения.
2. Потери в освещении.
3. Вынужденная посадка.
4. Неограниченное поле света.
IV. 
Выпишите и переведите на русский язык следующие предложения. Обратите внимание на глагол “should” (в значении “должен”, ”следует”), “would ” (в согласовательном наклонении – глагол + “бы”):

1. 
It should be understood that this device performs multiple functions.

2. 
It would be a mistake to think so.

3. 
The high level of science would have been impossible without production of steel.

4. 
It should be noted that the input and output resistance determine the amplification properties of transistors.

V. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию  “Сложное подлежащее” (см. модели):

1.
 We saw this scientific center grow day by day.

2. 
The soil proved to be rich in minerals.

3. 
These tubes are said to give considerable economy.

4. 
This substance seems to possess useful properties.

VI. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию  “Самостоятельный причастный оборот” (см. модели):

1. 
The current distribution being uniform, the resistance increases.

2. 
The forces acting in the same direction, the resultant is found by adding the applied forces.

3. 
Chemistry and physics are interconnected sciences, any chemical change resulting in a physical change.

4. 
Many metals are good conductors, silver presenting one of them.

VII. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Сложное дополнение” (см. модели):

1. 
We have seen device begin to operate.

2. 
Scientists found the amount of deformation to be connected with the chemical composition of materials.

ТЕКСТ №4

I. 
Прочитайте весь текст, а затем письменно переведите 1, 2 и 4 абзацы текста.  Английский текст перепишите на левой стороне тетради, русский перевод – на правой.

AIRPORT AND AIRWAY LIGHTING

1. 
Landing is the most difficult of all night flying operations and the first essential of the lighting equipment is that a pilot approaching an airport at night, guided by radio, must be able to locate the airport and to identify it as his exact destination by means of a beacon which is situated close to the landing area. On approaching closer, the pilot needs to know the exact shape of the landing area which should be outlined by means of boundary lights.

2.
Positive indication that this area is clear for landing is given to the pilot by means of one or more floodlights, light being projected parallel to the surface of the ground. The pilot also needs to know the exact wind direction in order that he may make his approach to land over the boundary on the side which will give him a straight path into the wind. This indication is given him in its most convenient from by means of an illuminated letter T.

3. 
All obstacles within the perimeter of the landing area which are dangerous to flying must be marked with red obstruction lights. Every first-class airport must have a properly designed lighting installation as part of its equipment. Smaller or less busy airports utilize equipment in accordance with their particular operating conditions and the extent of the services which they offer.

Airports must provide:

1. Floodlights.
2. Wind-direction indicator.
3. Obstruction lights.
4. Boundary lights.
5. Airport beacon.

II. 
Найдите в тексте ответы на следующие вопросы:

1. 
What is the most difficult of all night flying operations?

2. 
What is positive indication that the area is clear for landing given to the pilot by?

III. 
Выпишите из текста английские соответствия следующим сочетаниям:

1. Площадь приземления.
2. Заградительные огни.
3. Пограничные огни.
4. Осветительная установка.
IV. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на глагол “should” (в значении “должен”, ”следует”), “would ” (в согласовательном наклонении – глагол + “бы”):

1.
 It would be a mistake to believe that the problem is solved.

2. 
We would like to find out many things about outer worlds.

3. 
When calculating the weight of a body, we should multiply its specific gravity by its volume.

4. 
You should control the temperature at which solidification starts.

V. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Сложное подлежащее” (см. модели):

1.
 The problem is likely to be solved.

2.
 Coal is considered to have been found in the earth thousands of years ago.

3. 
He is supposed to be working at his report.

4. 
Volta is known to have invented the first electrical battery.

VI. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Самостоятельный причастный оборот” (см. модели):

1. 
The resistance being very large, the current in the circuit was small.

2. 
The problem being very simple, everybody understood it at once.

3. 
New machines were brought to the plant, all of them being in good order.

4. 
The system operation has been improved, the main changes being made in the transmitter.

VII. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Сложное дополнение” (см. модели):

1.
 We consider nuclear energy to be the prime source of heat.

2. 
The engineers assumed the cell to work for long periods using the heat of nuclear reactor.

ТЕКСТ №5

I. 
Прочитайте весь текст, а затем письменно переведите 1, 2, 3 абзацы текста.  Английский текст перепишите на левой стороне тетради, русский перевод – на правой.

THE SIMPLE ELECTRIC GENERATOR OR DYNAMO

1. 
A machine for converting mechanical energy into electrical energy by making use of the interaction between a conductor and a magnetic field is called a generator or a dynamo.

2. 
It consists of three essential parts, namely, 1) a coil or armature which moves within the magnetic field produced by 2) an electromagnet and 3) commutator or slip rings and brushes for leading off the current induced. The armature is built up of thin iron laminations so as to minimize eddy-current losses.  The armature coils are located in slots round the outside edge of the armature. The magnetic field is provided by the field coils.

3. 
There are several ways in which the field coils may be connected. The magnetic field strength and the output voltage for a given speed can be varied by means of the regulating resistor, which determines the exciting current. The field windings are connected across the armature. There is no separate source of excitation. The machine relies on the small amount of field which remains in the iron circuit when the machine is stationary.

4. 
There exist different ways of leading the current off the ends of the coil. One of them is to mount two contact rings on the shaft. The rings are insulated from the shaft by brushings made of some insulating material. The ends of the coil are connected to the rings in such a manner that there would be no danger of shirt-circuit. Two brushes are connected to the external circuit – the voltmeter and the lamp. In this way the circuit is completed.

II. Найдите в тексте ответы на следующие вопросы:

1. 
What machine is called a generator?

2. 
What is one of the ways of leading the current off the ends of the coil?

III. Выпишите из текста английские соответствия следующим сочетаниям:

1. Контактные кольца.
2. Потери на токе Фуко.
3. Сила магнитного поля.
4. Источник возбуждения.
IV. 
Выпишите и переведите на русский язык следующие предложения. Обратите внимание на глагол “should” (в значении “должен”, ”следует”), “would ” (в согласовательном наклонении – глагол + “бы”):

1.
 The sun gives us heat without which the Earth would be a frozen world.

2. 
Radio broadcasting would be impossible without electronics.

3. 
Science should open new ways of communication between different countries.

4. 
Room temperature should be from 18 to 22 degrees Celsius.

V. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Сложное подлежащее” (см. модели):

1. 
Water is likely to be present on Mars.

2. 
He is known to work at a laboratory.

3. 
The laser beam seems to have almost unlimited industrial possibilities.

4. 
Landing is certain to be the most difficult part of all flight operations.

VI. 
Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию “Самостоятельный причастный оборот” (см. модели):

1. 
The temperature of a conductor being raised, the random motion of the electrons in the conductor increases.

2. 
Electrons moving through a wire, electrical energy is generated.

3.
The fundamentals of electricity are the fundamentals of electronics, both being the branches of physics.

4. 
Current passing through a coil of wire, magnetic poles are produced at each end of the coil.

VII. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на конструкцию  “Сложное дополнение”  ( см. модели):

1. 
We know gravity to act on every particle of a body.

2. 
The constructors believe the syncro-cyclotron to work in the same way as a synchrotron.

МОДЕЛИ
1. Сложное подлежащее:
The system is believed to be simple in operation.

Полагают, что система проста в обращении.

2. Самостоятельный причастный оборот:
The operation of the system being simple, the pilot can use it during flight.

Так как работа системы проста, пилот может использовать её во время полёта.

Five different positions can be selected, each being correct.

Можно выбрать  пять различных положений, причем каждое будет правильным.

3. Бессоюзное предложение:

The molecules every substance is composed of are in a state of constant motion.

Молекулы, из которых состоит каждое вещество, находятся в состоянии постоянного движения.

